SNC 1PT Chemistry Exam_Review Name:_AhsWweyr e\

. Word Matching

“_h_melting a) a gas that is frozen to make dry ice
_‘!_ solution b) a change in state from gas to solid, or from solid to gas
L viscosity ¢) a physical property that describes how a liquid flows
_LD__ sublimation d) a change in state from gas to liquid
ﬁ__ condensing e) the ability of a substance to be formed into shapes
£ malleability f) contains the protons and the neutrons in an atom
9_ compound g) contains more than one element
K electron h) a change in state from solid to liquid

| atomic number

£ nucleus e hederoaeneons .' ) pop (Sprite, Coke) is an example
_J_ mechanical mixture Q"M*‘MW— J ) fruit loops and sand are an example
i) carries a negative charge; not in the nucleus

A_ carbon dioxide |') the same as the number of protens in an atom

2. Does each of the following statements describe a physical or chemical property?

a) Copper metal can be bent into different shapes Ma lleable o iw;.rc |\ (e '
b) A steel blade can scratch glass havehe s —P h yS (e ]
c} Alcohol boils at 60°C Lo s Imj point ohy<ical
s hape .
d) Under a magnifying glass, sugar appears to be made of tiny cubes __,F:% VAN ars I

3. List four clues that a chemical change has occurred:

1. __colour fhamj{-j 2. L‘)uL:HeS o+ P LY

)
3. JDrfrlliJ_:r}-ai'C 4 _hegt or li bkt 1s glfﬁ }’10#
5. new smel

4. True and False
i Combustibility is the ability of a substance to react with acids
= _ T sugar disappearing in water is an example of a solution holmog cheous (looks ke ane -Hﬂ"ﬂ)

F_Raisins in Raisin Bran are an example of a solution

l Tearing a piece of paper is a physical change _T_ Burning a piece of paper is a chemical change



P 4

5. What type of (physical or chemical) change occurs:
a) mixing salt and pepper: Change: p Why?  ch ange of Form

g

b) burning a log: Change: C Why? co loutr ol"aiﬂﬂ c
c) demolishing a car: Change: P Why? c ],mha c of Sharc /or
d) baking a cake: Change: . Why?  ~ l.uv chanac new cine | j

bubbles of 345

6. Classify each of the following substances as an element, a compound, a homogeneous mixture
(solution) or a heterogeneous {mechanical) mixture. In each case, explain the reason for your

choice. . hemegen ol £
. Element, compound, solution or -
Substance. mechanical mixture?—> hetere genyess Explanation
A cup of tea with sugar solution more -than ohe —H-nhj
homogehﬁol“ S hq,x"'urc —“‘CQY‘\+ Sceo 'H/\C..
par + s
Neon gas
elemenT ohe Type of atom
Ne
| Salad dressing hh IS
e Feroqencou can sce the
fure
I it dieferent part S
o2_wmechanical mixture
Carbon dioxide gas
C.O CcMPouV\O’( more Hhan one
2 <lemen +
7. Find the number of atoms in the following compounds:
a) NaHCIO; has 3 oxygen atoms b) CO; has Z oxygen atoms
¢) Na NO; has _O __ hydrogen atoms d) Fe(NO3); has Z-__ nitrogen atoms
8. Complete this table
Name of Substance | Chemical Compound or Elements present | How many atoms
Formula Element? of each element?
helium gas He elemenT He. | He atom
Calcium phosphate | Ca(POu4): compoun o Ca, P, 6 2_'_ .C;' 8o
iron (II) nitrate Fe(NO3); compoun cl fe, N, O ;_F; 60
sulfur trioxide 503 Cempoun d s, 0 30 atoms




9. Draw Bohr-Rutherford diagrams for the following elements. Include the standard atomic

notation of each element below.

@erylium (Be) - atomic number 4 9 Sulfur (S8) - atomic number 16 3Z
- mass number 9 4 Be - mass number 32 1
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10. Fill in the missing information. ¥ = sam=
Element Symbol Atomic o Mass No. of * No. of No. of
Number Number Protons Neutrons Electrons
QLL‘VY”IUM Be < 9 o 9-4=5 4
carbon C 6 2 b 12-6 =1 L
silicen S, i 4 2.8 [ 4 28-14=14 14
Po‘f—qsswm K | 9 39 19 359-19=20 [ 9
11. Use the combining capacities provided to write the name and chemical formula for each
compound.
2 I
a) M g3
Element Combining Capacity M ?43“% 3 a >
Mg 2 L j Magnestum L)Y’DM' %
Br 1 ] J
b) ! 2
Element Combining Capacity A X‘@g %rj 7_0
Ag 1 3 J
O o 2 silver pxide







